Goteborgs BF
Grupp A, rond 4, 15-28

IMP over faltet, 12 bord, 16 par. Antal brickor: 14.

Plac Par Poéng Namn MID
1 5 2.70 Stefan Stolt - Goran Ostberg 29994 27577
2 301 2.28 Thomas Therkelson - Joakim Olsson 4805 80478
3 206 2.23 Stefan Corneliusson - Tommy Somlo 38625 12620
4 105 1.60 Sven Nilsson - Nils Nordahl 53041 3075
5 102 1.45 Stefan Asgarden - Ingemar Assarsjo 3901 647
6 201 1.05 Goran Selldén - Gote Berntsson 4863 92122
7 202 0.78 Nils Ahlén - Eva Gunnarsson 1169 12598
8 106 0.58 Patrik Clevstrom - Annika Corneliusson 52591 38624
9 306 -0.58 Kaj Vestergard - Ove Tammer 48922 18395
10 2 -0.78 Tore Mattsson - Jan Konar 5086 9717
11 1 -1.05 Leif Beckman - Sten-Ake Thunberg 18021 2754
12 302 -1.45 Kjell Berndtsson - Jacob Kleiven 4970 29713
13 305 -1.60 Anders Simonsson - Finn Jeppsson 56420 88498
14 6 -2.23 UIf Harrysson - Savy Harrysson 2958 26014
15 101 -2.28 Jim Nielsen - Anders Brunzell 4865 12576
16 205 -2.70 Ragnar Andersson - Stefan Palm 26725 65401
15 465 Bésta kontrakt 16 4 D109852 Bésta kontrakt 17 4 865 Bésta kontrakt
Syd vK2 2NT S =120 Vast v K95 5v N =450 Nord v KDKn832 5& N D -1-100
NS 498653 ov +6 Ingen .-
#KKn86 & ¢ v & NT #EK5 & ¢ v & NT #K1083 & ¢ v & NT
4Knl072 498 N7 9587 & KKn7 4643 N 7 8 11108 4 EK97 & Kn432 N 103 9 3 6
v D84 v 109765 S7 95838 vD1084  vKn S 7 8 11108 v 64 v 1097 S 103 8 3 6
+KD10 ¢ EKn 06 4755 +10 ¢DKn9832 O 5 4 2 3 4 ¢ EKn8 ¢ K97632 O 2 104 9 2
#ED10 #9732 V64755 #DKn872 4943 V54234 D976 &- vV 2 104 9 3
4 EKD43 o E «D10
v EKn3 v E7632 vE5
€742 ¢ EK754 + D1054
#54 #106 #EKn542
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr ut Res Poéang
5 205 2NV-3 46 150 20.0 -20.0(102 302 4v S+1 T 450 67.0 -67.0 5 205 4y N= T 420 53.0 -53.0
106 306 INN+1 5 120 14.0 -14.0(105 305 44 N= vJ 420 62.0 -62.0(102 302 4vy N= 43 420 53.0 -53.0
2 202 24 S= ¢K 110 12.0 -12.0 1 201 6v S-1 #Q -50 -15.0 15.0(105 305 4v N= ¢2 420 53.0 -53.0
101 301 INS= &) 90 6.0 -6.0 5 205 4v S-1 T -50 -15.0 15.0 6 206 3y N= ¢3 140 8.0 -80
102 302 INS= 42 90 6.0 -6.0 6 206 4v S-1 T -50 -15.0 15.0(101 301 4v N-2 3 -100 -31.0 310
105 305 INN= +7 90 6.0 -6.0 2 202 6vS-2 T -100 -28.0 280 1201 24 0= vA -110 -320 32.0
1 201 INN-1 T -100 -32.0 32.0(101 301 6vS-2 4J -100 -28.0 280|106 306 24 O= vA -110 -32.0 32.0
6 206 INN-1 5 -100 -32.0 320|106 306 4vS-2 T -100 -28.0 280 2 202 44 O= <vA 420 -720 720
18 D98 Basta kontrakt 19 D2 Basta kontrakt 20 D64 Basta kontrakt
Ost v 643 44 O =-420 Syd v 1098643 ANT V =-630 Vast vE2 ANT V =-630
NS + DKn94 oV 495 Alla + E7632
#EKn7 & ¢ v & NT *E92 & ¢ v & NT #542 & ¢ v & NT
4« KKn1053 & E7642 N495214 4Kn63 #E5 N3 3673 & EK5 41032 N2 2242
v K92 v E87 S49524 vEK vKn72 S33673 v K74 v D9653 S 22242
+5 ¢+ E10 O9 4 8 108 ¢ KD62 ¢ Knl083 09 97 6 10 +KD984 ¢ Kn O 1010109 10
#KD83 #1054 V 8 4 8 108 #Kn754 #KD63 V9 976 10 #DKn #EK108 V 1010109 10
a- 4 K109874 4 Kn987
v DKn105 vD5 v Kn108
+ K87632 ¢ E74 + 105
2962 108 #9763
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr ut Res Poéng
106 306 64 O-2 #2 100 77.0 -77.0|101 301 24 S= vA 110 31.0 -31.0 5 205 2¢ V+1 4 -110 77.0 -77.0
1 201 44 0= vQ -420 -10.0 10.0(106 306 24 S= vK 110 31.0 -31.0 1201 4vO0= T -620 -80 8.0
2 202 44 O= vQ -420 -10.0 10.0(102 302 5#V-1 4Q 100 31.0 -31.0(106 306 4v O= «Q -620 -80 80
5 205 44 O= vQ -420 -10.0 10.0 5 205 24 S-1 +6 -50 40 -40(101 301 3NV+1 &4 -630 -8.0 8.0
101 301 44 O= vQ -420 -10.0 10.0|105 305 24 N-1 43 -50 40 -40(105 305 3NV+1 2 -630 -8.0 8.0
102 302 44 O= vQ -420 -10.0 10.0 2 202 24DN-1 &K -100 -80 80 2 202 4v V+1 &2 -650 -15.0 15.0
105 305 44 O= vQ -420 -10.0 10.0 6 206 24 S-2 vA -100 -80 80 6 206 3BNV+2 47 -660 -15.0 15.0
6 206 44 O+1 vJ -450 -17.0 170 1 201 3NO+2 «Q -660 -850 85.0(102 302 3NV+2 ¢2 -660 -150 15.0
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21 41073 Basta kontrakt 22 + EK1063 Basta kontrakt 23 4 862 Basta kontrakt
Nord v 1042 5¢ S =650 Ost v K932 24 S =110 Syd v EKn8 2v O =-110
NS + K10832 ov +98 Alla +73
94 & ¢ v & NT *64 & ¢ v & NT #ED1087 & ¢ v & NT
& DKN954 462 N 9 10109 10 4DKn84 49 N7 46 86 4 KD1043 45 N8 856 6
v53 v D876 S 1011119 10 vEDKn4 v876 S7 4686 vK9742  v1063 S 8856 6
¢+ E654 ¢ Kn9 032243 ¢+ DKn3 ¢ K7542 O6 87 46 ¢ 108 ¢ EDKn2 045867
#K10 #87632 V32243 #E10 #Kn975 V68747 *3 #KKn954 V45766
 EK8 4752 & EKn97
v EKKn9 v 105 vD5
+ D7 + E106 + K9654
#EDKnN5 #KD832 »62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 3NS+1 «Q 630 38.0 -38.0 5 205 3NV-2 &4A 200 32.0 -32.0 2 202 INO-1 6 100 20.0 -20.0
5 205 3NS+1 45 630 38.0 -38.0|105 305 3NV-2 &4A 200 32.0 -32.0|102 302 2v V-1 7 100 20.0 -20.0
102 302 3NS+1 «Q 630 38.0 -38.0(101 301 24 S= ¢5 110 13.0 -13.0|105 305 2¢ S= #3 90 20.0 -20.0
106 306 3NS+1 4Q 630 38.0 -38.0 2 202 1aN= v6 80 11.0 -11.0|106 306 2¢ S= #3 90 20.0 -20.0
2 202 3NS= 44 600 33.0 -33.0 6 206 INS-1 vJ -50 -17.0 17.0 5 205 Pass -1.0 1.0
6 206 3NS-1 4Q -100 -57.0 57.0|102 302 34 N-1 2 -50 -17.0 170|101 301 2+ S-1 &K -100 -20.0 20.0
101 301 3NS-1 44 -100 -57.0 57.0 1 201 INV= &5 -90 -26.0 26.0 1 201 2vVv= 7 -110 -20.0 20.0
105 305 3NS-2 «Q -200 -71.0 71.0(106 306 34DN-1 v3 -100 -28.0 28.0 6 206 2¢ S-2 &3 -200 -39.0 39.0
24 4832 Basta kontrakt 25 49542 Basta kontrakt 26 4752 Basta kontrakt
Vast vKn 5NTV =-460 Nord v DKn85 6¢ N D -2-300 Ost v D6 3¢ S =110
Ingen + 10874 oV + 1075 Alla + 10875
#109764 & ¢ v & NT &D7 & ¢ v & NT #E642 & ¢ v & NT
41064 « EKD7 N53222 4 KDKn876 4E3 N 4 101 3 4 4 KD10963 484 N7 8557
vD108652 v94 S53222 v 10963 v EK72 S 4 101 3 4 v 982 v EKn743 S79557
¢ EK92 ¢ Kn65 O 8 10111011 .- + D83 O 7 3 11109 2 ¢ EK94 04 47 8 4
»- #EKKNn8 vV 8 10111011 #E109 #6542 vV 7 3 11106 #D53 *97 V 44784
& Kn95 410 & EKn
v EK73 v4 v K105
+D3 + EKKN9642 + DKn63
#D532 #KKn83 #KKn108
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 205 4v O-1 45 50 61.0 -61.0 1 201 54 V-2 T 200 40.0 -40.0 2 202 29 0= ¢Q -110 40 -40
105 305 6NO-1 vA 50 61.0 -61.0 5 205 3¢ S+1 4K 130 28.0 -28.0 5205 2vy 0= &7 -110 40 -40
1 201 4v O= &5 -420 -19.0 19.0 2 202 4¢ V-1 ¢5 100 22.0 -22.0|105 305 2v O= &T -110 40 -40
2 202 4v V= ¢7 -420 -19.0 19.0 6 206 44 V-1 ¢7 100 22.0 -22.0|106 306 24 V= ¢Q -110 40 -40
6 206 4v V= &9 420 -19.0 19.0(105 305 5v O-1 +¢A 100 22.0 -22.0 1 201 2vO+1 &A -140 -40 4.0
101 301 4v V= 42 -420 -19.0 19.0(106 306 5v O-1 ¢A 100 22.0 -22.0 6 206 24 V+1 ¢8 -140 40 4.0
102 302 4v O= &3 -420 -19.0 19.0(101 301 5¢ O= ¢A -650 -78.0 78.0|101 301 24 V+1 7 -140 -40 4.0
106 306 3NO+2 vA -460 -27.0 27.0(102 302 5¢ O= ¢A -650 -78.0 78.0|102 302 24 V+1 &7 -140 -40 4.0
27  KD1052 Bésta kontrakt 28 463 Bésta kontrakt
Syd v5 5v V =-450 Vast v54 5NTV =-460
Ingen + Kn9832 NS + KD9864
#98 & ¢ v & NT *K73 & ¢ v & NT
4 Kn86 « E97 N3 7 253 4 E4 & K1052 N6 4252
v EKKn94 v D862 S37253 vKn10986 v EKD2 S6 4252
+10 ¢ ED5 O 105 117 10 ¢ E1053 ¢ Kn7 O6 8 118 9
#E742 #KKn6 V 105 118 10 D2 &E54 V6 9 118 11
443 & DKn987
v 1073 v73
+ K764 2
#D1053 #Kn10986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 6v V-2 &K 100 66.0 -66.0 1 201 4vV+1 ¢K -450 40 -40
102 302 6v V-2 4K 100 66.0 -66.0|101 301 4v V+1 ¢K -450 40 -4.0
2 202 4v V= &K -420 -22.0 22.0(102 302 4v V+1 ¢K -450 40 -4.0
5 205 4v V= &K -420 -22.0 22.0[105 305 4v V+1 ¢K -450 40 -40
6 206 4v V= &K -420 -220 220 2 202 4y V+2 ¢K -480 4.0 4.0
101 301 4v V= &K -420 -220 220 5 205 4v O+2 ¢2 -480 40 4.0
105 305 4v V= &K -420 -22.0 220 6 206 4v V+2 ¢K -480 -40 4.0
4v V= &K -420 -22.0 220 4v O+2 2  -480 -40 4.0
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